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HEBRC15: Introduction to Talmud

Attempt ALL questions.

The translation should demonstrate a sound grasp of the detail of the
Hebrew and Aramaic text.

1. (a) Translate the following passage into idiomatic English:

RO
MY IR 5O 1% o 521 0 "% 12 YOI "27 R

Dy AR TR X WRY D DY AR WO X1 D1 PN
AMoWwRn 0 WRY D DY AR RN XRDWD M0 WRY D
IR KW D HY AR MO KPR AT ORO2 712007 D 717
5Ma NATY TR °20 K Y ANown o'

"B50 P AP O 2w TS P 13 VWP 237 NN
T WM "2 0D D YR (17D ROPM) 2TIDT RAVD KD
AP IO 2w R 2w 102D APIR N

P b Y 13 PR T P 13 YN "3 R
w5 19T MY R IPR RPN 1D YR0HD Xp CRE 8D
H LYK 71D DD 1T (RoR mne it Y 13
xnbwn 7% 2Yop T 2 B AR

TO9D P 2w O 2N JID D 12 POWT *37 0K
X0 XM XD 20 XD PR 200 YOI 1270 XK 270 KD
AR T XD 0K (17D RIPT) WK O 73 MR "2
2T 377 KA ROXR DD 0P 19 M YeDY 10 PRY D Y
15U 1D

[10 marks]
(b) Explain the relation between this passage and the preceding
gemara. [4 marks]

(c) The first memra has been discussed previously in the gemara.
Does the second discussion make a difference?
What do rishonim and later commentators make of this rule?
[4 marks]

(d) Discuss two opposing interpretations of the second memra
attributed to R. Joshua b. Levi, and relate these views to the
textual development and redaction of the tractate. [5 marks]
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(e) m. Meg. 1.3 reads: 0503 7y 12 ©°0 5D A9 TV XTOWR.
How does this mishnah relate to the third tradition attributed to
R. Joshua b. Levi? [4 marks]

() What does 2v° mean in the phrase 30 Yhun 1290 R"O°R?
p
[4 marks]

(g) How does R. Eleazar b. R. Jose infer his statement from the
biblical prooftext? [4 marks]

2. (a) Comment upon the structure of the following passage:

TS YT oM 1Pm WY IR DRIPI AW R
Mo*Ion Ovh PrvIpn MR 0D SR PN o Rt
IPARP DT IR D°DTD2W DITTIRD W oD pRO 1D
TP XpHO KT MR TN N0 WK A IO
1337 MR PPN 0P TYRM 0P AYATIR 7917 NoD R
7 P2 PR OINM 97T 001D WK PRI RAPA PN
W 1M D B X9R AN 7 o2 a7 Sab 5o
WP T Q01D CWIR MR REWD ROX 110 MOM2
XD TR JIM° "27 MR RIR T2 7AW 27 MR RO RO
MR OO OTEara ORI 0BT W DR 0pR (B TNOR)
o> PN
What is the usual meaning of 1713?
The Rif starts his commentary as follows: X2 I°X7P1 12" ‘™2
O3t R 0TS W DR D”P‘? XIX 72 0 27 MR XA
Explain this comment in relation to that of Rashi. What point
does the gemara make which the Rif does not take up? [15
marks]

3. (a) In reference to the passage below, answer the following
questions:

17N> 00T XoR MmN poenb ovso 11 PR 1300
AW 137 R XOR M2N03 PR M oem nw'’ 953

PN XX 12N 1PN KD DUI902 AR MR OROm1 13
PR AN DT AR xS PpTaa o k1 XA
01N 12w XOPR TR 1 (w923 1and) oveo
TP DT AR RDLD R T2 2001 XOpH 100w DuOm
RWP XD RID MR I DO DY OUOR 102 1INV
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KON "R IR T2 MR 1150 1P 1R W0 191D RO
DM DU 12NOY RIPD RTR CRD JIOD PRI RTD
01270 12050 DIIN XOPR 12000 XIPH 19°BR RIPR 12000
X XOX 1772 7907 B MK IOV IV 1P RAT 0
YD 127 R DROOPI 12 PN 120 KT OJR0 KT R0p
JRD D902 XD R'WP KD ROR I ROK KT Ox°Om) 12
W12 NOT DR XYY ORD N 179E0 MmN PYena
RD'R KPR 12000 DWON KR W 2 M () 00aT)

RO ROR R0 O @®VD POXI) XOR TN XRD02
D°ID01 XD 1972 XD KP KD RDOR KR D00 RN

DN CRD ONESD1 DINOD 12 2°NDT RDYL RN 7970
DIND YRYN (R NOK) RDD 270 MR RDK RIpD 12ND0
N0 DRIT DO (R INOK) TR PRYY N2 jpm 20 JonT
"2 090 WY R R*IN D MK WK 27 [Hrad
DR ROR AN PR DN 7ORN XUINT XN T
D°2ND) O'7IR0 XK XOR YM 2NOM D000 VRN 0maT
qOX XP RINT HHON N D0 1R wmaT oS 503

SR RN DN ROR 20D AT XD WD XK ROR
NBO2 ROR 1IN RD DI WM HIRD AR T 20
Tonn nPna morn RUINT ORI nSNT movn owm 700N
X1 D2 ") D°Y2W3 10°IDM DIPT DY D°YY O1rDY
0o MR TR MR 5D SRR 010N OrD N Y o> 17
55 251 XIT P2 O ) 0O AR NN D 1and

AAR NPT 1210 WPO0M A¥Y IR MR
Translate the mishnah accurately, and comment upon the
different possibilities of translation. [S marks]

(b) Discuss the meaning of X7pn 12N00 DR DTN 12000 RPH in
the baraita (lines 5-7), and the meaning which the subsequent
discussion assumes it has. [5 marks]

(c) In this baraita the word 2122 is missing in the Yemenite and
Sefardi manuscripts. Discuss the relevance of this variant
reading for the interpretation of the gemara. [S marks]

(d) Analyse how the reading of this sugya may be affected by
focusing on the attributed sayings only, while leaving out the

anonymous material. [10 marks]
(e) What is the result of the discussion according to the final text-
form? [5 marks]
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4.

(a) Describe and analyze three different models of the redaction of
the Babylonian Talmud. [20 marks]
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